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ANSWER KEY - Tests

UNIT 2 - Test A
1 1 clothes; 2 €48; 3 watch; 4 is; 5 €65

2 From left to right: 3, 2, 1
aF;bT,cF;dT;eF

31 old/ new; 2 ugly / beautiful; 3 trendy / classic; 4 fast / slow; 5 big / small
4 1 trendy; 2 slow; 3 ugly; 4 small; 5 new

51’2’s;3’s;4;5’s

61b;2a;3a;4c;5b

7 1 This; 2 That; 3 Those; 4 These

8 Students’ own answers

UNIT 2 - Test B
1 1really cool; 2 €93; 3 is; 4 is; 5 €65

2 From left to right: 1, 3, 2
aF;bF,cT;dT;eT

31b;2a;3c;4b;5a

41°,2’s;3";,4’s; 5’

5 1 slow / fast; 2 classic / trendy; 3 small / big; 4 cheap / expensive; 5 ugly / beautiful
6 1 expensive; 2 beautiful; 3 ugly; 4 classic; 5 fast

7 1 Those; 2 This; 3 These; That

8 Students’ own answers
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TRACK 3 - Transcript

Shop assistant: Good afternoon! Can | help you?

Jennifer: Oh, yes, please.

Mark: It’s our best friend’s birthday on Friday and she just loves modern
clothes.

Jennifer: And accessories too! Those belts are really cool. How much are
they?

Shop assistant: They’re € 48.

Mark: Mm... that’s OK. Oh, look at this pink watch. It’s super trendy! How
much is it?

Shop Assistant: It’s €93.

Mark: Wow! It isn’t cheap at all!

Jennifer: No, it isn’t. But this white jacket is OK and it isn’t very expensive.
It’s only €65. Look, Mark!

Mark: Yes, it’s fine. But is the same jacket in a different colour, sir?

Shop assistant: Of course. There are brown, red and black jackets.
Mark: | love the brown one. And you, Jennifer?

Jennifer: Brown is perfect! Here you are, sir, €70.

Shop assistant: Thank you! Here’s your change, €5. And here’s your gift

for your friend.
Mark and Jennifer: Thank you, sir. Bye!
Shop assistant: Goodbye.
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